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Abstract

Eigenvalue problems for very large sparse matrices based on the
Lanczos’ minimized iteration method are examined. A detailed analysis
shows that false eigenvalues which rarely appear in the Lanczos method
are unstable for iteration procedure. It leads us to an improved
Lanczos method which can exclude the false eigenvalues and pick out
more eigenvalues than the ordinary Lanczos method. A sample program of
this method and some numerical results are presented.
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SUBROUTINE LANVOD (MTMAX, MT, MAXMTE, MTE,

& ICON, IEN ,IU,AU,V1,V2,V3,X,ES, EPS)
C#
C# LANVOD.. LANCZS--TRIDIG2(SLL2) ..... EIGEN VALUES
Ck |
C# LANVI EIGEN VECTOR
C# |
Ck CHK3  <—-—-—- | CHECK EIGEN VECTOR
C# _ |
C# | | I
C# (IF 0K) (IF NO)--> CG  ..... IMPROVE EIGEN VECTOR
C# l
C# |
CH END
C#
C#
€ MTMAX % MAXIMUM DIMENSION OF MATRIX
C NT % DIMENSION OF MATRIX
C  MAXMIE % MAXIMUM NUMBER OF ELEMENT
C ME % NUMBER OF ELEMENT
¢ IEN % NUMBER OF EIGEN-VALUES TO BE EXCUTED
¢ IVN10O % THE FIRST NUMBER OF WORKING AREA
C  ICON % INPUT(OUTPUT) CONDITION NUMBER
C  IU(MTE) % LOCATION OF NONZERO ELEMENT OF THE MATRIX
C  AUMIE) % NONZERO ELEMENT OF THE MATRIX
C Vi(MD) % INPUT INITAL VECTOR & WORKING AREA
C  V2(MT),V3(MT) % WORKING AREA
C  X(MT, IEN) % EIGEN VECTCRS
C E(IEV) % EIGENVALUES
C  EV(IVN10O, IEV) % WORKING AREA FOR EIGEN VECTOR
C#

C# ICON: POSITIVE (NEGATIVE)..... MAXIMUM (MINMUM) EIGNVALUE
C# ICON: 10000....MESSEGE ON  1000....EIGEN VECTOR PASS

C# 100...... INVERTH ITERATION METHOD PASS
C# 10....... DIVIDE AU(MAXMTE) BY 2  PASS
CH
C#

IMPLICIT REAL*8 (A-H,0-Z)

PARAMETER ( IVN100= 400, IEV=500, IVN10=200)

DIMENSION VI (MTMAX), V2 (MTMAX), V3 (MTMAX), ES(IEN),E(IEV)
DIMENSION  X(MIMAX, IEN) ,EV(IVN100, IEV)

INTEGER*4  IU(MAXMTE)

DIMENSION AU (MAXMTE)

COMMON/COM1/ IESET(IVN10), ENAMA (IVN100)

IF(EPS.LE. 1.0D-15) EPS=1.0D-15

IVSIGN=SIGN(1, ICON)
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MES=ABS (ICON/10000)
TAUPAS=ABS (MOD (ICON, 10000) /1000)
ICGPAS=ABS (MOD (ICON, 1000 )/100 )
IEIPAS=ABS (MOD(ICON, 100 )/10 )

ICONAB=ABS (ICON)
IF (ICONAB. EQ. 1. OR. ICONAB. EQ. 10. OR. ICONAB. EQ. 10010. OR
& . ICONAB.EQ.10001)THEN
ELSE
ICON=-999
IF (MES.EQ. 1) WRITE(*,*) 'CHECK ICON !!!t!
RETURN
END IF

IF( (MES.EQ.0.OR.MES.EQ. 1). AND. (ICGPAS.EQ. 0. OR. ICGPAS.EQ. 1)
& .AND. (TAUPAS.EQ.0.OR. IAUPAS.EQ.9) ) THEN
ELSE
ICON=-999
WRITE (*,*) ’CHECK ICON !!!t!”
RETURN '
END IF

IF (MTMAX. LT. MT. OR. MAXMTE. LT. MTE) THEN
ICON=-1
IF(MES.EQ.1) WRITE(*,*) 'CHECK MIMAX & MAXMTE °
RETURN

END IF

IF (MT. GT.MTE+1) THEN
ICON=-1
IF(MES.EQ.1) WRITE(*,*) ’CHECK MT & MIE
RETURN

END IF

MTCHK=0

MTCHK2=0

MTCHK3=1
DO 2 I=1,MIE
MTCHK=MAX (ABS (IU(I)) , MTCHK)
IF(IU(I).EQ.0)  MTCHK2=1
IF(IU(I).LT.0)  MTCHK3=0
CONTINUE

IF (MTCHK. NE.MT)  THEN
ICON=-1
IF(MES.EQ. 1) WRITE(*,*) ’'CHECK MT & MTE & IU{MTE)’
RETURN
END IF
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IF (MTCHK2.EQ.1) THEN
ICON=-1
IF(MES.EQ.1) WRITE(*,*) 'IU(MTE) CONTAINS zero !!!*
RETURN
END IF

IF (MTCHK3.EQ.1) THEN
ICON=-1
IF(MES.EQ. 1) WRITE(*,*) 'IU(MIE) IS INVALID
RETURN
END IF

IVECTN=IEN*5
V1CHEK=0. 0DO
DO 10 I=1,MT
10 VICHEK=V1CHEK+V1 (1) **2
IF (SQRT (VICHEK) . LE. 1. 0D-9) THEN

C % RANDOM INITAL VECTOR #

IM=2**31
DO 20 I=1,MT
IRAN=MOD{32771*IRAN+1234567891, IM)
20 V1(I)=(IRAN*1.00D0) /IM-0.5D0

VINN=0. 0D0
DO 22 I=1,MT
22 VINN=VINN+V1 (I) **2
VINN=SQRT (VINN)
DO 23 I=1,MT
23 V1(I)=V1(I)/VINN

ELSE
IF( ABS( SQRT(VICHEK)-1.0D0 ).GE.1.0D-7) THEN
ICON=-1
IF (MES.EQ.1) WRITE(*,*) ’CHECK INITAL VECTOR
RETURN
END IF

END IF
IF(IEIPAS.NE.1) THEN
DO 30 I=1,MT

30 X(I,1)=V1(D)
END IF

C.... DIVIDE DIAGONAL ELEMENT OF AU(J) BY 2
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BECAUSE OF DOUBLE COUNTING IN DO LOOP
........ AU(J)*V(ABS(IU(])) ........

IF(IAUPAS.EQ.0) THEN
1=0
DO 40 J=1,MTE
I=I+(1-SIGN(1,1U(])))/2
IF(ABS(IU(J)).EQ.I) AU(J)=AU(J)/2.0D0
CONTINUE
END IF

ICON=IVSIGN

CALL LANCZS(MTMAX, MT, MAXMTE, MTE, IVECTN, ICON, IEN, IVWN100, IEV,

& IU,AU,V1,V2,V3, E, EV,EPS)

35

C

DO 35 J=1,IEN
ES(=E(D)

IF(ICON.EQ.-3) THEN
IF(MES.EQ. 1) WRITE(*,*)’'TRIDIAGONALIZATION FAILLING B1=0’
RETURN

END IF

IF (ICON. EQ. -30) THEN
IF (MES.EQ. 1) WRITE(*,*)'TRIDIAGONALIZATION FAILLING BN=0’
RETURN

END IF

IF(ICON. EQ.-1000) THEN

IF(MES.EQ. 1) WRITE(*,*)’ INCREASE PARAMETER(IVN100) IN LANCZS’
RETURN

END IF

IF (ICON.EQ. -10000) THEN
IF (MES.EQ. 1) WRITE(*,*) 'LANCZS DONT CONVERGE
RETURN
END IF

IF(IEIPAS.NE.1) THEN

WRITE (*,*) *ICON=", ICON
ICONV=ICON
IF (ICON. GE. 300) ~ IVONV=300
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CALL LANV1(MTMAX, MT, MAXMTE, MTE, IEN, IEV, ICONV, IVN100
& ,IU, AU, V1,V2,V3,X,EV)
DO 100 IV=1,IEN
CALL CHK3(MTMAX, MT, MAXMTE, MTE, IEN, IV, IU, AU, X, V2, V3, EE, EPSCHK)
IF (EPSCHK. GT.EPS. AND. ICGPAS.NE. 1) THEN
C #f INVERSE ITERATION METHOD WITH CG  ##
DO 140 ICG =1,100

CALL CG(MTMAX, MT, MAXMTE, MTE, IEN, IV
& , ICON, 1Y, AU, X, E, V1, V2, V3, EPS)

IF (ICON. EQ. -300) THEN
IF(MES.EQ.1) THEN
WRITE(*,*) *CG DONT CONVERGE '
WRITE(*,*) *I=",1V, EPSCHK= ', EPSCHK
END IF
RETURN
END IF

CALL CHK3 (MTMAX, MT, MAXMTE, MTE, IEN, IV, IU, AU, X, V2, V3, EE, EPSCHK)
IF (EPSCHK. LE. EPS) GOTO 110
140 CONTINUE
ICON=1V
IF(MES.EQ.1) THEN
WRITE (*,*) *EIGEN VECTOR DONT CONVERGE !!!!  No=',IV
WRITE(*,*) *EPSCHK= ’, EPSCHK
END IF
END IF
110 CONTINUE
EECHK=ABS (E (IV) -EE)
EV(1,IV)=EE

IF (EPSCHK. GT.EPS)  THEN

ICON=IV



100

50

5 v F 3 AL & BEMNKRTIVHOR ALY 7 v —F v DIEK

IF(MES.EQ.1) THEN
WRITE(*,*) 'CHECK EIGEN VALUE & VECTOR !!!!! No=",IV
WRITE(*,*) "<X AU ©>=",EE,”  ZANSA=",EPSCHK
END IF
RETURN -
END IF

CONTINUE

END IF

.. REMAKE AU(J) .......

IF (IAUPAS.EQ.0) THEN
1=0
DO 50 J=1,MTE
I=I+(1-SIGN(1,IU(])))/2
IF(ABS(IU(J)).EQ.I) AU(J)=AU(J)*2.0D0
CONTINUE
END IF

END

C********** ].anCZOS method o ok ok 3k 5k ok kk

SUBROUTINE LANCZS (MTMAX, MT, MAXMTE, MTE, IVECTN, ICON, IEN, IVWN100, IEV
& ,1U, AU, V1, V2, V3,E, EV, EPS)

MTMAX % MAXIMUM DIMENSION OF MATRIX

MT % DIMENSION OF MATRIX

MAXMTE % MAXIMUM NUMBER OF ELEMENT

IVECIN % NUMBER OF EIGEN-VALUES TO BE EXCUTED
IVN100 % THE FIRST NUMBER OF WORKING AREA
ICON % INPUT(OUTPUT) CONDITION NUMBER

IEN % INPUT(OUTPUT) CONDITION NUMBER2
IU(MTE) % LOCATION OF NONZERO ELEMENT OF THE MATRIX
AU (MTE) % NONZERO ELEMENT OF THE MATRIX

V1(MT) % INPUT INITAL VECTOR & WORKING AREA
V2 (MT),V3(MT) % WORKING AREA

X(MT, IEN) % EIGEN VECTORS

E (IVECTN) % EIGENVALUES

EV(IVN100, IVECTN) % WORKING AREA FOR EIGEN VECTOR

ISTEP # INTERVAL TO CHECK CONVERGENCE

IMPLICIT REAL*8 (A-H,0-Z)

PARAMETER (ISTEP= 8, 1IV2=1, IA=1000, IVN10=200)
DIMENSION E(IVECTN) ,EOLD(IA)

DIMENSION V1 (MIMAX), V2 (MTMAX), V3 (MTMAX)
INTEGER*4 IU (MAXMTE)
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DIMENSION AU (MAXMTE)
DIMENSION ALPHA(TA),BETA(IA+1), WK (5*IA)
DIMENSION EV(IVN100, IEV)

COMMON/COM1/ IESET(IVN10), ENAMA (IA)

C*** INITIALIZATION

IS=ICON
DO 5 I=1,IVN10O
ALPHA(I)=0. 0DO
BETA(I)=0. 0DO
5  CONTINUE

DO 10 I=1,MT
V2(I)=0.0D0
V3(I)=0.0D0

10 CONTINUE

C*** ALPHA(1) AND BETA(2)
CALL  AX(MTMAX, MAXMTE, MTE, IU, AU, V2, V1)

ALPHA(1)=0.0DO
DO 15 I=1,MT
15 ALPHA(1)=ALPHA(1)+V1(I)*V2(I)

BETA1=0. 0D0
DO 50 I=1,MT
V2(1)=V2(I)-ALPHA(1)*V1(I)
50  BETAI=BETAL+V2(I)**2
BETA (2) =SQRT (BETA1)
IF(BETA(2).LT. 0. 5D~20) THEN
C WRITE (*, *) 'LANCZS DE BETAL GA ZERO 11111 °
ICON=-3
RETURN
ELSE
DO 65 I=1,MT
65 V2(1)=V2(I)/BETA(2)
END IF

C*** ITERATION
ET=1.0D+30
1C=0
DO 100 I=2, IVN100

IF(I.GT. IVN100) THEN
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C WRITE(*, *)’ ITERATION NUMBER OVER !!!°
ICON=-1000
RETURN
END IF

DO 105 II=1,MT
105 V3(II)=0.0D0

€ DO 11 JJJ=1,MTE
CALL  AX(MTMAX, MAXMTE, MTE, IU, AU, V3, V2)

ALPHAI=0. 0DO
DO 120 J=1,MT
120 ALPHAT=ALPHAI+V2(J)*V3(])

ALPHA (T) =ALPHAI
BETAI1=BETA(I)
DO 130 J=1,MT
130 V3(J)=V3(J)-ALPHAI*V2 (J)-BETAI1*V1(J)

BETAI=0.0DO
DO 140 J=1,MT
V1(])=v2(J)
BETAI=BETAI+V3(])**2
140 CONTINUE
BETA(I+1) =SQRT (BETAI)
IF (BETA(I+1).LT. 0. 5D-20) THEN
C WRITE(*,*)’ TRIDIAGONALIZATION UNSUCCESSFUL IN LANCZS’
ICON=-30
RETURN
END IF

IF(I.GT. 15. AND. MOD (I, ISTEP) . EQ. 0) THEN
IF (1. GT. IVECTN) THEN
IMM=IVECTN
ELSE
IMM=I
END IF
CALL DTEIG2(ALPHA, BETA, I, IS*IMM, E, EV, IVN100, WK, IER)
ICON=I
IF( ABS(EBEFOR-E(IV2)) .LT.EPS*ABS(E(IV2)) ) THEN

DO 220  IIII=1,IMM
220 ENAMA(TTII)=E(IIII)

EOLD(1)=E(1)
ICON2=IEN
CALL EIGENS(IVECTN, ICON2, IC, IMM, E, EOLD, EPS, ET)

IF(ICON2. GE. IEN) THEN
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DO 240 ISELC1=1, IEN
SABUN=1000000000. 0
DO 240 ISELC2=1, IMM

IF ( ABS(ENAMA(ISELC2)-E(ISELC1)).LT. SABUN ) THEN

SABUN=ABS (ENAMA (ISELC2) -E (ISELC1))
IESET (ISELC1)=ISELC2
END IF
CONTINUE
RETURN
END IF

END IF

DO 210 IIII=1,IMM
EOLD(IIII)=E(IIII)
CONTINUE
EBEFOR=E (IV2)
END IF

RB=1. 0DO/BETA(I+1)
DO 150 J=1,MT
V2(J)=V3(J)*RB

IF (I.EQ. 15) THEN

CALL DTEIG2(ALPHA, BETA, I, IS*IV2,E,EV, IVN100, WK, IER)

EBEFOR=E (IV2)

END IF

CONTINUE

WRITE(*,*)" LANCZS DID NOT CONVERGE’
ICON=-10000

RETURN

END

SUBROUTINE LANV1 (MTMAX, MT, MAXMTE, MTE, IEN, IEV, ICON, IVN100

&

,1U, AU, V1, V2, V3, L,EV )

V1,V1,V2 WORKING AREA

X(MT,

IEN)  *EIGEN VECTOR ...X(MT,1) IS ALSO INITAL VECTOR

AU (MAX) *NONZERO ~ ELEMENT OF THE MATRIX
IU (MAX) *NONZERO  POSTION OF THE MATRIX
ISTEP @ INTERVAL TO CHECK CONVERGENCE

E
ITER
MT

# FOUR LOWEST EIGENVALUES TO BE RETURNED
# NUMBER OF ITERATIONS TO BE RETURNED
@ DIMENSION OF THE MATRIX

IMPLICIT REAL*8 (A-H,0-Z)
PARAMETER (IA=1000, IVN10=200)
DIMENSION V1 (MTMAX), V2 (MTMAX) , V3 (MTMAX) , X (MTMAX, IEN)
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DIMENSION AU(MAXMTE)
INTEGER*4 IU(MAXMTE)
DIMENSION ALPHA(IA),BETA(IA), EV(IVN100, IEV)
COMMON/COM1/ TESET (IVN10), ENAMA(IA)
IF(ICON. GT.0) ITER=ICON
IF (ICON.EQ. -100) ITER=MT

C*** INITIALIZATION
DO 10 I=1,MT
VI(D=X(1,1)
v2(D)=V1(D)
V3(1)=0.0D0
DO 10 II=2, IEN
X(I,11)=0. 0DO

10 CONTINUE
C***
DO 12 I=1,IEN
DO 12 II=1,MT

12 X(II,1)=EV(1, IESET(I))*V1(II)
C*** ALPHA(1) AND BETA(1)
CALL  AX(MTMAX, MAXMTE, MTE, IU, AU, V1,V2)

ALPHA(1)=0. 0DO

DO 40 I=1,MT

ALPHA (1) =ALPHA (1) +V1 (1) *V2(I)
40  CONTINUE

DO 45 I=1,MT
45  V1(I)=V1(I)-ALPHA(1)*V2(I)
BETA1=0. 0DO
DO 50 I=1,MT
50  BETA1=BETA1+V1(I)*V1(I)
BETA (1) =SQRT (BETAL)
IF (BETA(1).LT.0.5D-20) THEN
C WRITE(*,*) ’LANV1 DE BETA(1)=0.0DO0 *
STOP
END IF
DO 60 I=1,MT
60 V3(1)=0.0D0
DO 65 I=1,MT B
65 V3(I)=V1(I)/BETA(1)
DO 67 II=1,IEN
DO 67 I=1,MT
67 X(I, 1I)=X(I, II1)+EV(2, IESET(II))*V3(I)

C*** JTERATION

DO 100 I=2, ITER-1
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CALL  AX(MTMAX, MAXMTE, MTE, IU, AU, V1, V3)

120

130

140

145

150

ALPHAI=0. 0DO
DO 120 J=1,MT
ALPHAI=ALPHAI+V3 (J)*V1(J)
ALPHA (I) =ALPHAI
BETAI1=BETA(I-1)
DO 130 J=1,MT
V1(J)=V1(J)-ALPHAI*V3 (J) -BETAI1*V2(])
BETAI=0. 0DO
DO 140 J=1,MT
V2(J)=3(])
BETAI=BETAI+V1(J)*V1(])
CONTINUE
BETA(I)=ABS (BETAI) **0.5
DBETA=1. 0DO/BETA(I)
DO 145 J=1,MT
V3(J)=V1(J)*DBETA

DO 150 JJ=1,IEN
DO 150 J=1,MT
X(J,J1)=X(J, J1)+EV(I+1, IESET(J])) *V3(])

100 CONTINUE

210

230
200

&

.X(1,II) normalization .........
DO 200 JJ=1,IEN
VNORM=0. 0DO
DO 210 J=1,MT
VNORM=VNORM+ABS (X (J, JJ))**2
VNORM=SQRT (VNORM)

DO 230 J=1,MT
X(J,11)=X(J,JJ)/VNORM
CONTINUE
RETURN
END

SUBROUTINE CG(MTMAX, MT, MAXMTE, MTE, IEN, IV

, ICON, IU, AU, X, E, P, Q, R, EPS)

IMPLICIT REAL*8 (A-H,0-Z)

DIMENSION P(MTMAX), Q(MTMAX), R(MTMAX), X(MTMAX, IEN)
DIMENSION AU (MAXMTE)

INTEGER*4 IU(MAXMTE)

DIMENSION E(IEN)

C********* CG_METHOD e e 2f ok ok 3k ok ok ok ok ok ok 3k ok 3k ok ok ok 3k ok ok ok o ke ok ok 3k ok Kk K Kk k
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DO 10 I=1,MT
R(D= X(I,1V)
10 P(I)=-R(I)

DO 1000 K=1, MT+100

DO 55 I=1,MT
55  Q(I)=-E(IV)*P(I)

CALL  AX(MTMAX, MAXMTE, MTE, TU, AU, Q, P)

ALP1=0. 0D0O
ALP2=0. 0D0O

DO 40 I=1,MT
ALP1=ALP1-P(I)*R(I)
40 ALP2=ALP2-P (I)*Q(I)
ALP=ALP1/ALP2

DO 50 I=1,MT
X(I,IV)=X(I, IV) -ALP*P (1)
50 R(I)=R(I)-ALP*Q(I)

BET1=0. 0D0O
BET2=0. 0DO

DO 80 I=1,MT
BET1=BET1+R(I)*Q(I)
80 BET2=BET2-P (I)*Q(I)
BET=-BET1/BET2
DO 90 I=1,MT
90 P(I)=-R(I)+BET*P(I)
C************* NORMALIZATION & SHUSOKU HAN’I‘EI 3 3k 6 o 3k ok ok 3k vk ok

EPS1=0. 0DO

DO 100 I=1,MT
100 EPS1=EPS1+R(I)**2

IF(SQRT(EPS1).LE.EPS )  THEN

VNOR=0. 0D0
DO 110 I=1,MT
110 VNOR=VNOR+X (I, IV)**2
RVNOR=1. 0D0/SQRT (VNOR)
DO 120 I=1,MT
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120 X (I, IV)=X(I, IV) *RVNOR

RETURN
END IF

1000 CONTINUE

IF(EPS.GE. 1.0D0) THEN
C WRITE(*,*) 'CG DONT CONVERGE !!!!!
ICON=-300
RETURN
END IF

VNOR=0. 0DO
DO 140 I=1,MT
140 VNOR=VNOR+X (I, IV) **2
RVNOR=1. 0D0/SQRT (VNOR)
DO 130 I=1,MT
130 X(I, IV)=X (I, IV) *RVNOR

END

SUBROUTINE CHK3 (MTMAX, MT, MAXMTE, MTE, IEN, IV

& ,1U, AU, X, V1, V2, EE, EPSCHK)
C
Cf  E=<X AU %>
C
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION X (MTMAX, IEN), V1 (MTMAX) , V2 (MTMAX)
DIMENSION AU (MAXMTE)
INTEGER*4 TU (MAXMTE)
c***
DO 10 I=1,MT
V1(I)=0.0D0
10 V2(I)=X(I, V)
CALL AX (MTMAX, MAXMTE, MTE, IU, AU, V1,V2)
XHX=0. 0D0
DO 30 I=1,MT
XHX=XHX+X (I, IV)*V1(I)
30  CONTINUE
EPS=0. 0DO

DO 35 I=1,MT
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EPS=EPS+ (XHX*X (I, IV)-V1(I))**2
CONTINUE
WRITE(*,*) * ZANSAl=",EPS/XHX
EPSCHK=EPS/XHX**2
EPSCHK=SQRT (EPSCHK) /MT
EE=XHX

END
SUBROUTINE AX (MTMAX, MAXMTE, MTE, IU, AU, Y, X)

IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION  Y(MTMAX), X(MIMAX)
INTEGER*4  IU(MAXMTE)
DIMENSION AU (MAXMTE)

1=0

DO 10 J=1,MTE
I=I+(1-SIGN(1
Y(D= YD)  +AU
Y(ABS(IU(J)))= Y(ABS(IU(])
CONTINUE

() /2
(1)*X (ABS(IU())))
))+AU(J) *X(T)

END

C********** eigenvalue Select ok 3 s ok %k ok ok K

OO OO

SUBROUTINE EIGENS(IEV, ICON2, IC, IMM, E, EOLD, EPS, ET)

IVECTN % NUMBER OF EIGEN-VALUES TO BE EXCUTED
ICON2 % RETUN CONDITION NUMBER

E(IEV) % EIGENVALUES

EOLD(IVN100) % OLD EIGENVALUES

IVN100 % DIMENSION NUMBER OF OLD EIGENVALUES

IMPLICIT REAL*8 (A-H,0-Z)
PARAMETER (IVN100=1000 )
DIMENSION E(IEV) ,EOLD(IVN100),ESET(IVN100)

IC..... # OF CONVERGED EIGEN VALUE
ET..... RESOLUTION OF EIGEN VALUES

DO 10 I=1, IMM

IF (ABS (E (1) -EOLD(I)).LT.EPS*ABS(E(1)) . AND.
& ABS( E(I) ).LT.ET ) THEN
IC=IC+1
ESET(IC)=E(D)
ET=ABS (ESET(IC))-ABS (EPS*E(1))
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END IF

10 CONTINUE

C.... IF IC>=ICON2 -> END  ELSE -> MORE ITERATION
DO 20 I-1,IC
E(I)=ESET(I)

20 CONTINUE
ICON2=1C

END



